
 

 

Answer on Question #59338 – Math – Trigonometry 
 

Question 
 

1. The notation Arcsin x represents the inverse sine function 
True 
False 

 
       Answer: True. 
 

Question 
 

2. The following graph depicts which inverse trigonometric function? 
 

 

  
       𝑦 = 𝐴𝑟𝑐𝑠𝑒𝑐 𝑥  
       𝑦 = 𝐴𝑟𝑐𝑐𝑜𝑠 𝑥 
       𝑦 = 𝐴𝑟𝑐𝑠𝑖𝑛 𝑥 
       𝑦 = 𝐴𝑟𝑐𝑡𝑎𝑛 𝑥 
 
       Answer: The graph depicts y = Arctan х. 
 

Question 
 

3. The range of y = Arcsin х is [−
𝜋

2
;

𝜋

2
]. 

True 
False 

 
        Answer: True. 
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